Midpoints and Perpendicular Bisectors
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11 A circle has equation (x —3)% + (y + 2)% = 25.
(i) State the coordinates of the centre of this circle and its radius. [2]

(ii) Verify that the point A with coordinates (6, —6) lies on this circle. Show also that the point B on
the circle for which AB is a diameter has coordinates (0, 2). [3]

(iii) Find the equation of the tangent to the circle at A. [4]

(iv) A second circle touches the original circle at A. Its radius is 10 and its centre is at C, where BAC
is a straight line. Find the coordinates of C and hence write down the equation of this second
circle. [3]

;) Ceml:/e (‘3)-—2_) V‘A/{l'vi <
D (- (—es2Y
3P - a”

2 S ‘/ ,‘ o cgrle

")

R(*s) (3,2) s il poi t ot AL

6+ 6+ 1 = (3,2)

2 ) E—
4(6,-6) -
2
L +92¢ = 5 _QA_.]:__‘\,_
-
@(017—> = 1= %

) entee (3,2) A(6,-¢)
rad ;US te A thw’.\ev\‘(’ -6-2 — g

=
—

&-3 3






